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y	=	0,0304x	-	5,2843	
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y	=	0,0142x	-	4,6272	
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exponentielle	=	0,03	
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Calcul	de	pente	lors	de	la	phase	
exponentielle	=	0,014	



Exploitation	

MILIEU	LB	
	

r	=	0,03	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	23	min	

	
Valeur	de	K	:	DO	=	0,8	

	
K	=	5,6.108	bactéries.mL-1		

une	unité	de	DO	=	7.108	bactéries.mL-1.		

MILIEU	LB	dilué	deux	fois	
	

r	=	0,014	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	49,5min	

	
Valeur	de	K	:	DO	=	0,18	

	
K	=	1,26.108	bactéries.mL-1		
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y	=	0,0186x	-	5,0285	
R²	=	0,9749	
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y	=	0,0282x	-	4,8486	

R²	=	0,99274	

-2,50	

-2,00	

-1,50	

-1,00	

-0,50	

0,00	
80	 90	 100	 110	 120	 130	 140	

Calcul	de	pente	lors	de	la	
phase	exponentielle	=	0,019	
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Calcul	de	pente	lors	de	la	phase	
exponentielle	=	0,028	



Exploitation	

MILIEU	LB	
	

r	=	0,028	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	25	min	

	
Valeur	de	K	:	DO	vers	0,8	

	
K	=	5,6.108	bactéries.mL-1		

une	unité	de	DO	=	7.108	bactéries.mL-1.		

MILIEU	LB	dilué	deux	fois	
	

r	=	0,019	min-1	
Temps	de	génération	=	ln2	/	r	

	
Temps	de	génération	=	36	min	

	
Valeur	de	K	:	DO	>	0,3	?	

	
K	>	2,1.108	bactéries.mL-1		


